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SCHOLARS ACADEMY

[ ENGLISH ]

1. Direction: Choose the option which best expresses the
meaning of the idiom/phrase given below.
"Let sleeping dogs lie"

(@) To get someone drunk (b) A fair competition where

no side has an advantage
(c) To make adog to sleep (d) To avoid restarting a

conflict

2. Direction: Choose the option which best expresses the
meaning of the idiom/phrase given below.
"Cut to the chase"

(&) Tostarttalking about the (b)

important aspects of fact
something
(c) Toclean solid lines (d) To be evil tempered

3. Direction: In the following question, out of the given
alternatives, choose the one which can be substituted for
the given words/sentence.

A group of stars that make a pattern.
(@) Horizon (b) Planet

(c) Constellation (d) Comet
4. Direction: In the given question, a part of the sentence is

made bold. Below are given alternatives to the bold part
at (A), (B), and (C) which may improve the sentence.
Choose the correct alternative. In case no replacement is
needed, mark (D) as your answer.
Those who willingly join terrorist organizations subscribe
in the distorted views of ill-intentioned religious leaders.

(@) subscription to the (b)
distorted

(c)  subscribe to the distorted (d)

subscription for the
distorted

no replacement required

5. Direction: Select the option that is SAME in meaning to
the given word.

FOSTERING
(@) Argument (b) Neglecting
(c) Ignoring (d)  Nurturing

6. Direction: In the following sentence, four words are given
in bold out of which one word is misspelled. Find the
misspelled word.

Packing for a vacation is a necessary (A) evil before the
fun begins, but knowing (B) what cruise wear to include
can improve (C) the luggage quandery (D) immensely.

(@ A (b) B
() ¢ (d D
7.(7-11) Direction: In the following passage, there are

blanks each of which has been numbered. Choose the
correct word from the given options which fits the blank
appropriately.

In addition to Lucetta's house being a home, that raking
view of the marketplace which it afforded had as much
attraction for her as for Lucetta. The Carrefour was like
the regulation Open Place in spectacular dramas, where
the incidents that occur always happen to bear on the
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lives of the (1) residents. Farmers,
merchants, dairymen, quacks, hawkers, appeared there
from week to week, and (2) as the
afternoon wasted away. It was the (3) of all
orbits.

From Saturday to Saturday was as from day to day with
the two young women now. In an emotional sense, they
did not live at all during the intervals. Wherever they
might go wandering on other days, on market-day they
were (4) to be at home. Both stole sly
glances out of the window at Farfrae's shoulders and poll.
His face they seldom saw, for, either through shyness, or
not to disturb his (5) mood, he
avoided looking towards their quarters. Thus things went
on, till a certain market-morning brought a new
sensation.

Choose the appropriate word for (5):

Dream (b)
Mercantile (d)

Janitor
Percentile

Choose the appropriate word for (3):
Fashion (b) Means
Mode (d) Node

Choose the appropriate word for (2):
Disappear (b) Disappeared

Disappearing (d) Having disappear

Choose the appropriate word for (1):
Imposed (b) Pretended
Adjoining (d)  Driving

Choose the appropriate word for (4):
Sure (b) Was
Surely d) s

Direction: Fill in the blank with the most appropriate
word which will suit the context of the sentence.
They say that beauty lies in the eyes of the

catcher (b)

demeanour (d)

onlooker
beholder

Direction: Fill in the blank with the most appropriate
word which will suit the context of the sentence.

| at the candle but could not stop my gaze
from sliding back to him.
Gnawed (b)

Gleamed (d)

Glowed
Glanced

Direction: In the given question, the sentence is split into
five parts and named (A), (B), (C), (D) and (E). These five
parts are not given in their proper order. Read the
sentences and find out which of the five combinations is
correct and mark the respective option.

(A) payment security and safety to the next

(B) level by devaluing data

(C) and replacing payment

(D) credentials with tokens

(E) tokenization is the foundational aspect of taking

ABDCE (b) EABCD
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SCHOLARS ACADEMY

(c) DBECA (d) ABEDC 22. Direction: Among the following options, select the word
that can best complete the given sentence:
15. Direction: Choose the option that is the passive form of When | met Ram yesterday, it was the first time |
the sentence. him since my graduation.
They considered it an impressive building. (@ met (b)  had been meet
(@) It was considered to be (b) It can be consider to be (c) have meet (d)  have been seeing
an impressive building. an impressive building.
(c) It was considering to (d) Itis considered to be an 23. Direction: Choose the word that is opposite in meaning to
being an impressive impressive building. the given word.
building. Persist
(@) Cease (b) Demur
16. Direction: Given below are sentences which have been (c) Falter (d) Dismantle
presented in a random order. Arrange the following
sentences in a proper sequence to form a meaningful 24. Direction: Choose the correct synonym of the given word
paragraph and identify the correct sequence. from the options given below.
{\. Mercl;ants soon grew rich as the demand for products ABHORRENT
increased.
a Al tuat b A tuat
B. Trade started from person to person but grew to (@) ceen 93 € (b) ccen.ua €
involve different towns in different lands. (c)  Attraction (d)  Appalling
C. Eventually, people got a greater variety of things to
choose from. 25. Direction: Choose the option that is the indirect form of
D. People found work in transporting the goods or selling the sentence.
them. “I have joined computer classes” Rudra said.
(@) BDAC (b) BADC (@)  Rudrasaid that he had (b)  Rudrasaid that | am
() DABC (d) DBAC joined computer classes. joining computer classes.
()  Rudra said that | joined (d)  Rudra said that | join
17. Direction: Choose the correct antonym of the given word computer classes computer classes.
from the options given below.
BANAL
(@ Humdrum (b) Monotonous [ REASONING ]
(c) Tedious (d)  Exciting
18. Direction: Substitute the underlined phrase with the 26. iﬁmwwiﬁﬁﬁwmamml 4
appropriate option. :
Usually, no one gives a job to someone who runs away Study the different positions of a cube as given below.
from the law. Which numbers will occur on the face opposite to 4?
(@) afugitive (b) a persistent o o o
(c) ajuvenile (d) None of the above hﬂ hﬂ hﬂ
19. Direction: Improve the bracketed part of the sentence. b
400 million people speak English as (there first language). @ 3 (o) 5
(@) There native language (b)  Their first language © 1 @ ¢
(c) Hisfirst language (d) Noimprovement 27. Frofaf@a w 1 mm ¥ FUER It
20. Find out that word, the spelling of which is wrong. Arrang!; the following words as per order in the
(@) Beetle (b) Beautician dictionary:
(c) Bearable (d) Beautifull (1) Quilt
(2) Quite
21. Direction: In the following questions, one part of the (3) Queen
sentence may have an error. Find out which part of the (4) Queue
ser_rtence has an error and click the optio_n corresponding (@ 1,423 (b) 4,3,1,2
to |f. If the sentence is free from error, click the 'No Error © 2341 @ 3,412
option.
Encouraging healthy competition(P)/ between the ﬁ'ﬂﬁl@'ﬂ : | gyaTa® f%l'é'f > ¥ U
students of the school(Q)/ was one of the objectives of 28. ) d dy * & WAl
the annual sports day(R)/ No error (S). QT
p P VR)/ b (Q) What should come in place of the question mark '?' in the
@ (P OC) following number series?
() (R (d (s) 8,72, 288, (?), 1800, 3528
(@ 850 (b) 800
(c) 1000 (d) 820
Mob. - 01141676717,9312712114 Page 3
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34,

frdzn: 39 fasey &1 9a+1 P o d ey ieR-Ig
¥ I B R et § o R goRT 31eR-I9g ugd
JAER-TYE A Wafta B

Direction: Select the option that is related to the third
letter-cluster in the same way as the second letter-cluster
is related to the first letter-cluster.
CROCIN : RCTXNI :: SIGNAL : ?
ISILAL (b)

ISLILA (d)

frézr: 39 fasweu &1 9g+1 Fifom &t Ty sieR-Tg
Y M ypR Wafta B o UeR gERT 31eR-Ig ugd
&R A Wafa 3
Direction: Select the option that is related to the third
letter-cluster in the same way as the second letter-cluster
is related to the first letter-cluster.
GOAT : DQYW : : TRES: ?
QTcv (b)
PSBU (d)

afg 'a' &1 3 Sire B, '8 &1 3 U B, ‘¢ o1 O
HETa B, 3R ' &1 3 'uymr 8, @t Fufiaf@e e
BT U RITER?

If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’
denotes ‘subtraction’, and ‘D’ denotes ‘division’, then
what will be the value of the following expression?
483 D23 A93C16B4C(15B2)

30 (b) 78

20 (d) 55

TS fd P 3G 10 T gd Y Mg Y 125% B, AfpT
10 T 9TE P} 3T P 83/1/3% B | SHP! AU AT B:
The age of a person is 125% of the age 10 years ago but
83/1/3% of the age after 10 years. His present age is:

49 TN 49 years (b) 5199 51 years

48N 48 years (d) 50 s 50 years

TP dER P 3R IRT HId Y, X 7 Hgl, a8 WA
T B A FTrgPpalarder 3" | TR A afR dTx |
TR B2

Pointing to a photograph, X said, “He is the only son of
my sister’'s daughter”. How is the person in the
photograph related to X?

ISLLIA
IILLAS

HUMO
RSDW

Heltor Nephew (b) TIdT Grandson

Uit Granddaughter @) e e ferar s
Hhdl Can’t be
determined

T% IR e o % R Ramn o 8, w
f&og @1 dor [Sdler a1 & 91y gl RE g1
Rl

A transparent sheet as shown below, carrying a design is
folded along the dotted line on either side

@)

(©)

35.

@)

(©)

36.

@)
(©)

37.

@)
(©)

fFrafafaa & ¥ $19-0 srpfa SRie e i Aisa
¥ T1g 99 T | fradt-gad @2

Which one among the following figures resembles the
pattern formed after folding the above sheet?

T g
; (b) '
' () ‘

few: FafifET uy o $© $Y= 3 3T 918 79

frepd few e &1 enue! fow T Syl #Y 9@ AT

? Yo & 31 Tt @ 3T udid gha g, 9 freesf

P ufen 3R P a9 PR & fear mar == @

?ﬁb‘&ﬁqwmuqmaﬁmwﬁmw
[

DY:

FIq PO AR IS 8
PO GaT e el
e

1) Il dg IR B TBA R

2) PO A A TE B

3) PO de gargl

Direction: In the following question below some
statements are given followed by some conclusions.
Taking the given statements to be true even if they seem
to be at variance from commonly known facts, read all
the conclusions and then decide which of the given
conclusions logically follows the given statements.
Statements:

Only a few town is Shut.

Some open is town.

Conclusions:

1) All shut can be town.

2) Some town is not shut.

3) Some Shut is Open.

Had FIHY 1 SR (b)

1 8IR 2 ST SFTEROT
W%I Only conclusion

W%I Both conclusion

1 follows 1 and 2 follows

Had 2 WU HRATR | (d) T 1T 3 SHTTROT

Only 2 follows HIAT S| Either 1 or 3
follows

fFafafaa vy & 98 $7 & foe 59 o feel &t

3T ¥ g a1fgu?

Which two signs should be interchanged in the following
question to make it correct?
7%x116+4-17+5=200+4%x4-75+5

+3MR- +and- (b) + 3R x + and x

3R x - and x (d) x 3R + x and +
Frafafaa e o uyares [E > & ®R-F w® |31
S{TTT?

What should come in place of the question mark '?' in the
following number series?
7,26, 63, 124, 215, 342, ?

391 (b) 511

481 (d) 421
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SCHOLARS ACADEMY

38.

@
(©

39.

TP He UTT T, FLOWERS BT OLFSREW & =0 | ferar
ST 8, INCLUDE &1 3 HTUT # 4 ferar simem?

In a code language, FLOWERS is written as OLFSREW,
How will INCLUDE be written in that language?

CINEDUL (b) CNIFDLD

CNIEDUL (d) CNHDEUL

frézr: ofa &1 seaFyd® Srerg 9 iR Tgt guur sy
Exll
Direction: Study the image carefully and choose the

correct mirror image.
M

RGBSBPE

d8dd9A 983804

(©)

44.

@)
(©

5:30 (d) 8:60

3w erpfa  fra @ AR iR xraiw g
TG B 82
In the given figure, how many people like billiards and
chess?
.-";\"
/N
Raferad ./ Jf,;;\_ ™,

fN \
/sy 8 ) .
EiGEE ]

/

1
\ 21
6

gt —s| /

-
e

17 (b) 19
15 (d) 27

@ 45. TP B UTUT T, INDICATOR HI JOEIBCVQT & &T A
9888049 ,98980H4 for@T wirar 81 I UTOT # emoTioNAL BT FI @
© (@ ity
ﬁi’ﬂ' m q amﬁ.q.- TTT I In a code language, INDICATOR is written as JOEJBCVQT.
40. o %WW GI'I'Q':I[T’;’I[ o qe B How will EMOTIONAL be written in that language?
Direction: In the following question, select the (@)  FNAUJQPCN (b)  FNPUHQPCN
alphanumeric set that will come in place of '?'. (c) GNPUHTRCM (d) FNPDKQPCN
N5V, K7T, ?, E14P, B19N ]
(@) HoR (b) H10Q 4. T a:raf?;aﬁ; W;T[ f\rm; gaﬂf w8, e Bl g,
H10R d) I10R x -8, + e
© @ In a certain code language, '+' means '+, '+' means 'x', 'x'
ﬁ% W 3I1§7|%f aﬁﬁ'l'{ ﬁmﬁ 3"_‘!’_1% means '-', '-' means '+":
41. (x)‘l-n:lTa; d 44-11+2%x6+6+2-12
Direction: Find out the alternative figure which contains @ 65 (b) 60
figure (X) as its part. (c) 104 (d) 192
ﬁ 47. 25 SFIGR) 1975 B HIF-AT T U1
What was the day on 25th January 1975?
X) (8) IHAR Friday (b) XIMER Saturday
T (c) fFER sunday (d) THIR Monday
< o .
48. At anpfa A ot &t T F T B
(1) 2) 3) (4) Count the number of squares in the given figure.
(@ () (b) (2)
() 3 (d) (4)
42. fFufafad afteo o1 g gl o "R sgae w8 @ 10 © 8
B
Correct the following equation by interchanging the two © 9 @ 11
signs. .
8x4452-1=11 49. g;ﬁgs&hn?ﬁraﬂﬂﬁmwﬁgﬁwa&wﬁmﬁ
- B T oy
@ x f;;+ xand+ (b) > ﬁz Fxand Choose the correct mirror image of the given problem
() +9R-+and- (d) +9R-+and- figure when the mirror is placed to the right of the figure:
43, PrafefRe TR s gt & 3 9 T P e MT?’BSCE’E
TP 99 §, 3R U fia 71 fiw e fyeeut & & fawm
BT IIH PG
Three of the four following number pairs are alike in a @) 8388 ETM () MTSEEC}E
certain way, and one is different. Pick up the odd one
from the given alternatives:
@ 9050 b 7056 o 5CSB3TM  MTS5038¢
Mob. - 01141676717,9312712114 Page 5
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50.
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55.

@
(©

56.

g FrufafEa vy %, sieRier de o1 997 o) 31
2P R TR AT |

Direction: In the following question,
alphanumeric set that will come in place of '?'.
Q1F, S2E, U6D, W21C, ?

select the

Y44B (b) Y66B
Y88B (d) z88B

[ Quantitative Aptitude ]
ofe U 19 & Al & g 1 ], AT = FT pA

g8t e d fanr 82
If the length of the diagonal of a cube is |, then what is
the total surface area of the cube?

31 (b) v3r
v’ (d) 2°
T a® + 4a% + 16a° + 64a = 1, Tl a* + (4/a) DT HIF T &2

Ifa’+4a®+16a’+64a=1 , then what is the value of at+

(4/a)?

217 (b) 238
257 d) 300
T @i F A B B B 1:2:3 8, S

SrIuTd
fraaTer 6 A BT ard UE 9 @R #1 Ag A T
1A 3 | 9Ed BT g H1 T 1 72
Radius ratio of three iron balls is 1:2:3. They are melted
and recast into a bigger iron ball of radius 6cm. The
diameter of the smallest ball is:

1/ :F-‘E
V6 o Y
2v/ 6 2v/ 4
(d)
. feu e v &1 WA BT

Direction: Simplify the given expression.
33°x 1827 + 8%+ 122 =?>-368

10 (b)) 11
12 d 13
TP B1d B Afd 36 fa=1 A N7 fRyar 24 e & +=

Todl 21 afe QY Ty ST Hd ©, @ B 14/2/5
fa=i o quf g 5ian 81 @t Ry Afga &) o & fraa
uferera aifire qar @2

Rohit can do a piece of work in 36 days and Smita in 24
days. If both work together, the work is completed in
14/2/5 days. Then Smita is what percent more efficient
than Rohit?

50% (b) 40%

20% (d) 30%

TP GPMGR A AN ed R TP a¥g aT, dfh 1
5T a9 & RIF W 960 ATH IO BT SUANT HI |
IYBT ATH % FTd PHoA?

@)

(©)

57.

@)
©

58.

@)
©

59.

@)
(©

60.

@)
(©)

61.

@)
(©)

62.

@)
(©)

63.

A shopkeeper sold an article at cost price but use the

weight of 960gm in place of 1kg weight. Find his profits %
?

1 1

21 31
(b)

1

4%% 35
(d)

TSP ag DI 19% Bt Ye GBI 1, 215 TUA | 997 JA1a1 3|
Tf 17.5% @1 ge &t 9l B, @t 9vg B! fpa (U H)
T ST ST A e?

An article is sold for Rs 1,215 after giving a discount of
19%. If a discount of 17.5% is given, then for how much
(in Rs) the article should be sold?

1,527.30 (b)
1,237.50 (d)

72 f&Hl} / e ot fd q T Tt TP 7 B T

gafded T &1 IR H H 25 YHS ST THT AaT 8

AP daTs fvat 82

A train running at a speed of 72 km/hr takes 25 seconds

to cross an electric pole. What is the length of the train?
250 HIeR 250 meters (b) 750 HIeR 750 meters

500 HIeX 500 meters (d) 1000 TeR 1000 meters

afg qw o Ja9 Y Bear S & o @ iR
Farg ameft 8 wrelt B, Y A9 & 9 A 3R RE
ST & HeA ST JTd BT

If the radius of the right circular cylinder is doubled and
the height is halved, then the ratio between the new
volume and the previous volume of the cylinder is:

3:2 (b) wv2:1

1:1 (d 2:1

1,327.50
1,723.50

XA PIHOTT: (8 + 4 - 2) x (17 - 12 ) x 10 - 89 =

Simplify: (8+4-2) x (17-12)x 10 -89 =

3950 (b) 411
412 (d) 3949
23409 HT TS T 82
What is the square root of 23409 ?
137 (b) 143
147 (d) 153

177, 414 3R 837 & PHEA 1 12 A AU FA R
FIT Y FIAT 32

What is remainder when the product of 177, 414 & 837
divided by 12:

9 (b) o

6 d 1

TP W H 12 faefeal & siad ao & » 5 &t
gfg gl 8, o9 uo fQars! e au 55 P §,
o gmr f@ardt grr wloenfia fear wmar 31 A
faars) &1 9uH fPaar g2
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The average weight of 12 players in a team is increased

by % kg when one player whose weight is 55 kg is M — 21‘
replaced by another player. What is the weight of the 68. gfy “O5EC f—sin 8 15 I9 tang BT qE
new player? mmsﬁm?
(@ s7fFTs7Kg (b) 59 THAT 59 ke .
(© 62fFue2ke () 65fFeske cosecfisingd _ 21
cosec #—sin 8 15 .
If then the value of tan@ is
64. TP Hfaa id o A 11 frHi/der &Y nfq | 19 =en equal to-
Thal g1 URT P A 5/6 Wez/ AFs 81 URT & @ 1/5 (b) 1M6
wfagpd 36 ftll 3t gl T o & I fovan qwg © 1/5 @ 1
SUDIF
A person can row at a speed of 11 km/h in still water. The 69. (sin° 10 sin° 40 sin 50°) ﬁﬂﬁiﬂﬁﬂﬁﬁfﬁf;
speed of the stream is 5/6 m/s. How much time will he Find the value of (sin° 10 sin° 40 sin 50°):
take to row a distance of 36 km upstream? @@ o (b)  %sin20°
(@) 49c15fMCahours1s (b) 4 7%€c 30 FAFC 4 hours 30 © 1 (d) % -cos 20°
minutes minutes
(c) 4°c¢20fAT4ahours20 (d) 4 %< 36 AFT 4 hours 36 70. 20 9 T, 15 A S MR 10 AW FIE 9@
minutes minutes TP ATAATPR AP Pl GRIER U1 Bl Gl G o
, PIET TG 8 | T &Y YAad YT S 1 ghfle
65. TfQ (a®-b?) +(a+b) =252l (a - b) BT HH JTd PI: A rectangular block of length 20 cm, breadth 15 cm and
If (a’- b’) + (a + b) = 25, then find the value of (a - b): height 10 cm is cut into an exact number of equal cubes.
(@ 15 (b) 18 What would be the minimum possible number of cubes?
(c) 25 (d) 30 @ 12 (b) 16
(c) 20 (dy 24
66. I -l ® g¢f 3NX U SHHT: 3:1 3R 5:3 F U H
21 9% U ¥ i o W g fyon &) 71. TP Ul 3R Uh A T Hd oW 600 FUT 8 | TH Huf
e w wre fygor & g 3R Ut &1 srguTa 21 @ 3R TH A BT eI BT 3UTd 7:5 81 o) Hof &1 gea
| Farsi|
Two vessels contain milk and water in the ratio 3:1 and The total cost of a chair and table is Rs. 600 and the ratio
5:3. Find the ratio on which these two must be mixed to of cost of one chair and table is 7 : 5 . Find the cost of
get a new mixture in which the ratio of milk to water chair.
becomes 2:1. (a) 400%UT 400 rupees (b)  350%UU 350 rupees
@ 2:3 (b) 4:5 (c) 250 ¥UT 250 rupees (d) 450 ¥UTRs 450
(c) 3:1 (d) 1:2
72. &= Fafafaa TP 1995 | 2001 B afy §
67. Frdz: Prafufe g omra Rftm wed & mea ¥ T G T ST 28 H 7 i e P
m%l . Direction: The following line graph gives the ratio of the
Eﬁﬁﬂ"ﬁﬁﬂ'@ﬂ 8800 T | amounts of imports by a company to the amount of
Direction: Following pie chart shows the percentage exports from that company over the period from 1995 to
break up of students who participated in the CAT 2001.
entrance test for MBA from different states. T il v e e P 3 g a3 o 1
Total Number of students is 8800. Y 14 155
13
1.2
1.1
03
:
o4
01
. 1995 1996 1887 1998 199% 2000 2001
™
I 1996 A HYT BT AT 272 FIS TUA YT, dY 1996
: ] o St A fHafa ur:
IR YR & BTEI & 99 W= & BT T STIUT JATd If the imports of the company in 1996 were Rs 272 crores,
H'ﬁﬁﬂ'EI then the exports from the company in 1996 were:
Find the ratio of students from UP to Students from MP. (@ 370 wgwé‘r Rs 370 (b) 320 mm Rs 320
(@ 1:8 (b) 9t 14 crore crore
(c) 10: 14 d 2:5 (€) 280FASTUUARs280  (d) 275 HRIS BUURs 275
crore crore
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73.

SCHOLARS ACADEMY

e IA BT AT AP P 3T A 60% 3P ¢ df ITP

Jyotiraditya Scindia

P M I Pt 3y & frait ufoma su 32 79. i 23 Fafofea o 9 fva qRen sa &1 enamT 82
If Ram’s income is 60% more than Ronak’s income then The TROPEX 23 is an exercise of which of the following
how much percent of Ronak’s income is less than Ram’s forces?
income? (@) YRAT TR Indian (b) MR IR I Indian
(&) 60% (b) 37.5% Navy Air Force
(©) 25% (d) 40% (c) YR YT Indian (d) YR ST gRaT I
Army Indian Border Security
74. & fFufaf@a afee o &1 amFyde sraa Force
B3 3R RE M I HTIR S ‘ .
¢ 5 Fufat F fafir R & weffadt ot wen 80. HMEHITHY WIES Pedia Serpifeted $ 2023 BT
Pl gRtar gl Srarer fors TR d forar w2
Direction: Study the following table chart carefully and In which city will the IBSA Blind Football Intercontinental
answer the question given beside. Cup 2023 be organized?
The chart shows the number of employees in various (a) qurel] Panaji (b) DI Kochi
department in 5 companies. © aﬁ'scChennai (d) %mm. Hyderabad
ABC|JMD|BCGI| TCS/HCL
dab-itepl| 200 [ 350 | 270 | 70 | 120 81. HBIAARNI & g UPR §:
W 75 [2001] 150 |340( 180 The two k\;rﬁ\is of main memory are: ﬁq
T3] 50 | 30 | 25 | 35| 20 (2) WUHE SIRAHHS  (b) TEFSH IR SFHAD
9 13001 50 [ 120 11001 75 Primary and secondary Random and sequential
- : () ¥ 3RITROM and (d) IR TH All of the
HeL B T 3R, wfaTival &1 ufa=ra fra-n 82 RAM above
What is the percentage of H.R. employees in HCL?
@ 7% (b) 5.06% 82. I T UGUP T UGHUI HT T HId 82
() 4.98% (d) 5.6% Which pollutant is the major source of marine pollution?
@) wWAgricultural (b) aa fema oil spill
75. TS A YW ABC, B U THBIVT § 3 tanA = 4/3 run-off
819f¢ AC = 25 §HY B, A BC P TS AT 72 © e suRySd  (d) Heod sewage
A right angled triangle ABC is right angled at B and tanA = Industrial waste water
4/3. If AC = 25 cm, then what is the length of BC?
(@) 24T 24cm () 203 20cm 83. WEH PIA BTN BI ¢ TN fAaferfad # J $iA-
() 18.75 ¥ 18.75 cm ) 3339333cm H &2
Which of the following are two works of the great poet
Kalidasa?
[ General Awareness ] (2) WICRAAYTIRGAR  (b) HII HIG T G
YHd Malti Madhav and Malti Madhava and
Kumara Sambhava Raghuvamsha
76. e & Q #19 mo A glaena un () FURIUIIRIGIN () IgIW 3R faerqgfan
Which of the following was well-known in singing? Kumara Sambhav and Raghuvamsha and
(@) TMYATARMU Shobhana (b) UfUSH aRTS Pandit Raghuvamsha Kiratarjuniya
Narayan Yuraj
e . 84. RITH YftroawT frad R Y= o1 18 A
© E—;(gc?pga.lakrishnan M. () E::lr:;k?tfa;kshmi &, By whom was the permanent land system introduced?
(a) IS deviwd! Lord (b) IS DAY Lord
77. FufafEd d & 19 e uisfen sye fSaga &t @2 Wellesley Cornwallis
Which of the following is not a pointing input device? (c) H\%%@W{ Lord Hastings (d) dre faferaw e Lord
(a) ?EEEITT‘TTrack Ball (b) SIARE Joystick William Bentinck
() fEforerfifm cate () ¥PIR Scanner 85. HYWTY TS BT ST AIEHINS |22
Digitizing Tablet ) )
The Saubhagya Scheme aims at universal?
78. 'WRT Sl RREY WHETT 2023' BT IgueT fre (@) wadSleIRELe. (b)) WfIg
f&ar? ’ G. connection Household electrification
Who inaugurated the 'India Energy Summit 2023'? (c) WA faerea &t fen  (d) BIEEIRCRSIRB LIt
(@) SR STPR Anurag (b) F{ﬁf@:ﬂSmriti Irani Primary school education Public health insurance
Thakur
YR _ AR R 86. WAHSH B! AfUHIH TS # yrft STt 1
© ﬁr&' RK Singh d The maximum depth of Lithosphere is found in the:
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SCHOLARS ACADEMY

() URIAHGRINR Pacific  (b) WTRSRTA HGM Siberian technology, engineering,
Ocean Plain art, dialectic, literature,
. logic, mathematics,
(©) ﬁaﬂﬂﬁm%ﬁmﬂ d) feamm uﬁ'cr Himalayan astronomy, religion, and
Patagonian Desert Mountains .
philosophy.
g7. Prafifed 3 @ @ 381 @ ww T T @1 @ © WIAAFMER, (@) THWDRIE Alare
AR Pt s 22 IR, T, valid reasons
Which of the following is the basic chemical building mﬂ'@: ﬁ'ﬂﬂ‘{l’ﬂl‘f, T4,
block of natural rubber obtained from trees? q?l\_rlﬁf 3t aﬁﬂﬁf@ﬁ
@) Qﬁlﬁ?ﬂ‘l Acetylene (b) mﬂ:{ Isoprene C eb[\_ﬂ::trml Thi age
. ave birth to eminen
© R RaTRES VY (d) SR IBE T None gave i o &
) people like Kalidasa,
chloride of the above Varahmihira, Vatsayana,
. . AryaBhatta, Vishnu
88. HRdg Hfauw & Frafafea # 4 fow s & sharma, Gautama,
agd Isat H faur ufvwel & fAwfor a1 gea &1 Patanjali etc.
wTayT fan war g2
Under which one of the following articles of the Indian 93. frufaf@d o @ @19 It I URT § $g 3R T
Constitution, the provision of creation or abolition of IR b ATdSI-1P BT BT U= Bl 22
Legislative Councils in States are made? Which of the following institutions manages the public
€) \Hﬂ@?{ 168 Article 168 (b) &Iﬂ%_cf 169 Article 169 debt of the Central and the state governments in India?
(c) SfI®G170Article170  (d) 3fIE5G 171 Article 171 (a) TSTS NABARD (b) We P 3T sfgarse
) (c) YR fkoid 5 Ral (d) foI HATET Ministry of
89. MR & qTeR giaT & Wl 9 fg wfer &1 Squre Finance
&gl forar s
Where will the world's largest Hindu temple outside India 94. fufefEd # 9 foum 2o IRew S @ 312
be inaugurated? Who among the following discovered the Cholera-
(€) R’I\ﬁnew Jersey (b) 3@‘&1@[ Abu Dhabi bacillus?
(c) gas‘ Dubai (d) Tt Al @) TS I Ronald Ross (b) Q’s‘qﬁ? Louis Pasteur
(c) S feRex Joseph (d) JT&C B Robert Koch
90. R VRIS BT S-1e' fohd AT SITeiT 32 Lister
Who is considered as the ‘Father of Indian Communism’?
(a) I AYHER Charu (b) ISR T CR Das 95. YRd &1 Ugdl fSfed ma s ATe?
Majumdar Which is India's first digital village?
(c) THTARITMN Roy (d) HSATA & Kanailal (@) M Khonoma (b) TR chizami
Dutta (C) 3P Akodara (d) mﬂ’ﬂ’sﬁ Odanthurai
91. of oo YW W & WU F UF wRRmsa &1 96. Hx WHR A ARAATE F P} TaR TH IWR T
AT P P FTHRIBT fra a9 & e e i &>
Who will lead a delegation of Parliament to the 9th BRICS For how many years has the Central Government
Parliamentary Forum? extended the tenure of RBI Deputy Governor M
(a) IR YT Shashi Tharoor (b)  ITSTY RE Rajnath Singh Rajeshwar Rao?
(c) i fIsdm om Birla (d) R aIRE g (a) 02 ¥ 02 years (o) 03 ¥ 03 years
Harivansh Narayan Singh (c) 013¥01years (d) 04d¥ 04 years
92. R e & o PTd I YR gfagT o1 ol 97. "HRG S Na-2023' TN T ST P
I el SIrdl %| ﬁ‘;ﬂ%ﬂ@ﬁ | Caul a1 fawea Wﬁi Who inaugurated the '‘Bharat Drone Shakti-2023' show?
tﬂ%—waquﬁé? (@ XINH o 38 Rajnath (b) 3T T8 Amit Shah
The age of Guptas in Indian History is described as the Singh
Golden Age of Indian History. Which among the following . .
options is not a valid reason behind this? © TH S Jaishankar  (d) Thﬂakur STPR Anurag
(2) TB P O, MDY, (b)  3H b1 A fFg Weplar
SoltafeT, Fa, 3T el a1 er | 98. WREIHD T, Aurerd e 4 T R 82
RURSAEFRIUCACHIR This age cr\l/stalhzed ']cche Structurally, Meghalaya is a part of:
. t X
3, &7 R R Lo e ements © () fRraifees gE@dlshiwalik  (b) dabT UGR Deccan
EEED BE%E <t o ferg ' Range Plateau
ST AIAT T | The age is (c) Tom=mc feUTerd Greater  (d)  3RTAd! 4T Aravalli
known for extensive .
. o Himalaya Range
achievements in science,
Mob. - 01141676717, 9312712114 Page 9




SCHOLARS ACADEMY

99. 39 verd @} wuly & § forad g1 tw TRR fpa
A &I §eH & 91¢ 30+ o faar &1 fiie 9 v
P & R e g2
What is the property of matter by which a body tends to
regain its original configuration after the removal of
deforming force known as?

(@) HAITA Plasticity (b) TEATYA Ductility

(c) U Elasticity (d) 3margasadr
Malleability
100. %’o—ﬁu%m 3TN (cic) 379 & 5w waaray & siafa
SATATR?

The Central Information Commission (CIC) falls under
which of the following Ministry?

(@) I8 HATH Ministry of (b) & AT Ministry of

Home Affairs Finance
(c) IS HATT Ministry  (d)  JTHITSIS <91g Td
of Personnel SHIHTRAT AT

Ministry of Social Justice
and Empowerment
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